HW-89

This is a program that can calculate dominant and recessive alleles for multiple generations in Hardy-Weinberg equilibrium. The Hardy-Weinberg equation is 
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 where P indicates a dominant gene and Q indicates a recessive gene. The equation is derived from a Punnet square:
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This algebraically comes out to PP (P2) + PQ + PQ (2PQ) + QQ (Q2).

When the program first runs, it will ask for a population number. After you enter that, enter the number of individuals that exhibit a the recessive trait. The program will then calculate how many people in the population are homozygous dominant, heterozygous, and homozygous recessive for the trait. After that, you have the option of continuing into the next generation but with one combination of genes fatal. For example, in the fruit fly (D. meningeria), the particular phenotype of bristled hair on the body (a homozygous recessive trait) causes death in the fly before it can reproduce. This program has the option of choosing whether the fatal trait is homozygous dominant, homozygous recessive, or heterozygous.

I don’t think there are any bugs in the program. Future releases will include the ability to graph the allelic frequencies over several generations.
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